Multiplication Word Problems

1. Jamal runs 19 miles a day for 22 days. How far does he run?

2. An author writes a book containing 114 pages. He prints 12 copies off
to send to different publishers. How many pages is this in total?

3. A business owns 12 cars. Each car holds 40 litres of fuel. How many
litres would it take to fill all the cars?

4. Rowan takes part in a sponsored silence. For every hour he is silent he
raises £12. How much would he raise if he stayed silent for 19 hours?

5. Afootball team are paid £120 a game. If there are 22 players in one
game, how much will they be paid altogether?

6. A family drive 52 miles a day on their 2 week holiday. How many miles
do they drive altogether?

7. Alexander measures rainfall each month for 12 months. Each month he
measures 541 mm of rain. How much rainfall does he measure
altogether?

8. Chocolate factory vans are packed with 520 chocolate bars. 15 vans
leave the factorg. How many chocolate bars are packed?

9. What is the product of 72 and 12?

10. Lauren owns 11 bracelets. Each bracelet has 34 beads. How many beads
are there?
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Multiplication Word Problems

1. Jamal runs 19 miles a day for 22 days. How far does he run? 418 miles

2. An author writes a book containing 114 pages. He prints 12 copies off
to send to different publishers. How many pages is this in total? 1368

pages

3. A business owns 12 cars. Each car holds 40 litres of fuel. How many
litres would it take to fill all the cars? 480 litres

4. Rowan takes part in a sponsored silence. For every hour he is silent he

raises £12. How much would he raise if he stayed silent for 19 hours?
£228

5. Afootball team are paid £120 a game. If there are 22 players in one
game, how much will they be paid altogether? £2640

6. A family drive 52 miles a day on their 2 week holiday. How many miles
do they drive altogether? 728 miles

7. Alexander measures rainfall each month for 12 months. Each month he
measures 541 mm of rain. How much rainfall does he measure
altogether? 6492mm

8. Chocolate factory vans are packed with 520 chocolate bars. 15 vans
leave the factory. How many chocolate bars are packed? 7800
chocolate bars

9. What is the product of 72 and 12? 864

10. Lauren owns 11 bracelets. Each bracelet has 34 beads. How many beads
are there? 374 beads
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